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import matplotlib as mpl #Jl=2 &3 UK 2
import matplotlib.pyplot as plt # DT Ole 25

import matplotlib.font_manager as fm # =E 2ted 2%
import numpy as np

colab 2HE 0| A o= HE= #

rot

Ltz 45 24

#r Ubs 09 &1
lapt-get update -qq # XS YUOHOE -qq : 2OAE zASC=2
lapt-get install fonts-nanum* -qq # & XI8tCt. fonts-nanum*  => ttf-nanum, ttf-

import matplotlib.pyplot as plt
import matplotlib.font_manager as fm
import matplotlib as mpl

# ZE ItY =
path = '/usr/share/fonts/truetype/nanum/NanumGothicEco.ttf"’

# ZTE TZHE MH

font_prop = fm.FontProperties(fname=path, size=10)
font_name = font_prop.get name()

print(font_name) # NanumGothic Eco

# Z=E UMW Z2E =t
fm.fontManager.addfont(path)

# matplotlibll ZEE &F
plt.rc('font', family=font_name)

# S BEANHES £3

mpl.rcParams[ 'axes.unicode_minus'] = False



# OlH =X
plt.figure()

plt.plot([-3, -2, -1, @, 1, 2, 3], label="S % HAE")

plt.text(0.5, 0.5, 'st=2 ZE HAE"', ha='center', va='center', fontproperties=
plt.legend()

plt.show()
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# dold =4
data = np.random.randint(-200, 100, 50).cumsum()
data

array([ -75, -213, -344, -4@8, -321, -453, -442, -448, -515,
-629, -653, -680, -773, -713, -910, -1089, -1060, -1029,
-997, -1098, -1237, -1165, -1097, -1125, -1164, -1121, -1067,
-1062, -1093, -1101, -1101, -1121, -1309, -1500, -1651, -1789,
-1845, -1901, -2031, -2229, -2230, -2406, -2513, -2557, -2718,
-2889, -2959, -2942, -3029, -3040])

# JHZE AKX, 0lHN= H4&
plt.plot(range(50), data, 'r'")
plt.title('Al2tE It F01")
plt.ylabel('s4! Jt2)
plt.xlabel('Al2H(E)")
plt.style.use('seaborn-pastel’)
plt.show()

<ipython-input-20-b59247eb28e3>:6: MatplotlibDeprecationWarning: The seaborn styl

es shipped by Matplotlib are deprecated since 3.6, as they no longer correspond t

o the styles shipped by seaborn. However, they will remain available as 'seaborn-

vO_8-<style>'. Alternatively, directly use the seaborn API instead.
plt.style.use('seaborn-pastel")
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02 konlpy 270 & A&

=Xt 2 0|0}

e AX| : pip install konlpy
o A ALO|E : https://konlpy.org/ko/latest/
e KoNLPy= LO[M =22l A E AEO| 7t

!'pip install konlpy

Collecting konlpy
Downloading konlpy-0.6.0-py2.py3-none-any.whl (19.4 MB)
19.4/19.4 MB 45.5 MB/s eta

Collecting JPypel>=0.7.0 (from konlpy)
Downloading JPypel-1.5.0-cp310-cp310-manylinux_2_ 17 x86_64.manylinux2014 x86_6
4.whl (488 kB)

488.6/488.6 kB 39.6 MB/s eta

Requirement already satisfied: 1xml>=4.1.0 in /usr/local/lib/python3.10/dist-pack
ages (from konlpy) (4.9.4)

Requirement already satisfied: numpy>=1.6 in /usr/local/lib/python3.10/dist-packa
ges (from konlpy) (1.25.2)

Requirement already satisfied: packaging in /usr/local/lib/python3.10/dist-packag
es (from JPypel>=0.7.0->konlpy) (24.90)

Installing collected packages: JPypel, konlpy

Successfully installed JPypel-1.5.0 konlpy-0.6.0

import nltk
import matplotlib.pyplot as plt


https://konlpy.org/ko/latest/

import numpy as np
import konlpy

=
=
=
mjn
o
o
rot
A
1z

P e A

> oA

0% 0% Mo
AL 1x 1x

)
1z

N
o

-

ch

=d B2 =2

e [].sentences() : T

from konlpy.tag import Kkma
# Kkma 28X A4
k = Kkma()

# =& =

sentences

==,

# 21 =

print(sentences)
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# Z2 1t
print(nouns)
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from konlpy.tag import Kkma

# Kkma 24 MA
k = Kkma()
# 8l 24

—/

pos_result = k.pos("2HE3IMR2! 2

=
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k.sentences("2tEGtM 2! 2
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http://kkma.snu.ac.kr/documents/index.jsp?doc=postag

# 21 =9

print(pos_result)

O 2{7bA] AT ArESH E 7|

®* Hannanum

e Okt(Open Korean Text) (™ - Twitter)
e Kkma

* Mecab

e Komoran

from konlpy.tag import Hannanum, Okt, Kkma, Komoran

# HEA 24 AR WH MK
hannanum = Hannanum()

okt =0kt()

kkma = Kkma()

komoran = Komoran()
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# Hannanum
hannanum_result = hannanum.pos(text)
print("Hannanum:", hannanum_result)

# Okt (Open Korean Text)
okt_result = okt.pos(text)
print("Okt:", okt_result)

# Kkma
kkma_result = kkma.pos(text)
print("Kkma:", kkma_result)

# Komoran
komoran_result = komoran.pos(text)
print("Komoran:", komoran_result)

# Mecab (=4 XelE 222 AAEN Oet X = AHE)
# from konlpy.tag import Mecab

# mecab = Mecab()

# mecab_result = mecab.pos(text)

# print("Mecab:", mecab_result)

'O
fusl)

-

Hannanum: [( ', 'N'), ('ot', 'X"), (‘Al', '"EY), ('R, "I, ("', 'sY), ('L
§IJ INI)J ('8') 'J )) (I_l-:,-l) IN')J (I_E&IJ IN )J .S'J 'JI)J (I}\|7_:'I-') 'N.))
('3, X, (CsUT, CEYD, (L7, 'SY)]

okt: [('&tESIAR", Adjective'), ('!', 'Punctuation'), ('2="', 'Noun'), ('=°',
'Josa'), ('&=2"', 'Noun'), ('&4&"', 'Noun'), ('8', 'Josa'), ('AlI&', 'Noun'),

fl

(rgectt, tverb'), ('.', 'Punctuation')]

Kkma: [('©&", 'NNG'), ('Gt', 'XSv'), ("M, "EFN'), ('!', 'SF'), ('2E5", 'NN
G'), (‘2", 'IX"), ("&=", 'NNG'), ("=A", 'NNG'), ('S, 'IK0"), ("AIFHSH", 'V
v, ("= UL, "EFN'), (".', 'SFY)]

Komoran: [('@tEGHAIR ", 'NNP'), ('!', 'SF'), ('2&"', 'NNG'), ('2', 'IX"), ('&
=', 'NNPY), ("E4"', 'NNG'), ('S, "IKO"), ('AIE", 'NNG'), ('OF', 'XSV'), ('®=

LICH", "EF'), ('.', "SF")]
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e Hannanum, Okt, Kkma, Komoran: pip install konlpy @H 22 MX| 7t5%tL|C}
* Mecab: A|AH0f haf =7F X7 EQ.
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from konlpy.corpus import kolaw
from konlpy.tag import Hannanum, Okt, Kkma, Komoran
# from Ronlpy.tag import Mecab # Mecab AIE Al =4 ol Al

# 5= HE L=SX0HM 88 S8AE OIY I
kolaw.open('constitution.txt").read()
print( c[:15])

etel=e g

_ =

# SEHA =4 X 2 MA
hannanum = Hannanum()

okt = okt()

kkma = Kkma()

komoran = Komoran()

# mecab = Mecab() # Mecab AtE Al =4 o Al

# Sl =24 L A B2

hannanum_pos = hannanum.pos(text_sample)

okt_pos = okt.pos(text_sample)

kkma_pos = kkma.pos(text_sample)

komoran_pos = komoran.pos(text_sample)

# mecab_pos = mecab.pos(text _sample) # Mecab AIZ Al =4 ol Ml

# 21 =4

print("Hannanum POS:\n", hannanum_pos[:10])

print("Okt POS:\n", okt _pos[:10])

print("Kkma POS:\n", kkma_pos[:10])

print("Komoran POS:\n", komoran_pos[:10])

# print("Mecab POS:\n", mecab_pos[:10]) # Mecab At& Al =4 ol Xl



Hannanum POS:

[COBRIZEY , "N, (RT', N, (B, X, (=0, B, (AR, N,
(2, 3, (S, N, O, ), (R, N, (CLEY, 1)

Okt POS:

[(*CHstel=", "Noun'), ('&&"', 'Noun'), ('\n\n', 'Foreign'), ('S—=', 'Noun'),
('st', 'Josa'), (‘YAt', 'Noun'), ('2', 'Josa'), ('®S', 'Noun'), ('O', 'Jos
a'), ("€u=", 'Verb')]

Kkma POS:

[('CH&tRI=", 'NNG'), ('S&"', 'NNG'), ('S="', 'NNG'), ('Ct', 'XSV'), ('v-"', 'E
'), ("SAF', 'NNG'), ("', 'ICY), ("®S', 'NNG'), ('O', "IkM'), ("EU', 'V
V]

Komoran POS:

[(*CHstel=", 'NNP'), ("SI, 'NNP'), ('ST', 'XR"), ('OF', 'XSA'), ('v-', 'ET
M), ("SAF', 'NNG'), ('2', 'IC'), (‘HS', 'NNG'), ('Ol', 'IKB'), ('ELt', 'V
V)]

# AN =2

hannanum_nouns = hannanum.nouns(text_sample)

okt_nouns = okt.nouns(text_sample)

kkma_nouns = kkma.nouns(text_sample)

komoran_nouns = komoran.nouns(text_sample)

# mecab_nouns = mecab.nouns(text_sample) # Mecab AtE Al =4 ol Xl

print("\nHannanum Nouns:\n", hannanum_nouns[:10])

print("0Okt Nouns:\n", okt_nouns[:10])

print("Kkma Nouns:\n", kkma_nouns[:10])

print("Komoran Nouns:\n", komoran_nouns[:10])

# print("Mecab Nouns:\n", mecab_nouns[:10]) # Mecab A& Al =4 il Hl

Hannanum Nouns:
[‘THstoI=sg:, "R, A, CES, g, 22, HE=er, 3128, '

) Bl

Y, HEeI2UAFR]
Okt Nouns:

[OseRe, sy, R, CAA, CEEY, (2, R, res, -, O
stol=1]
Kkma Nouns:

['OHSt, "Tsta=, "HEeIsY, (U, EY, R, A, THE, 'R
2l', r=el]
Komoran Nouns:

['CHistQi=", 'S, "AA", 'HS, ', 2SS, A, ‘WetYd=z, LA,
-j(1|:1|]
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Zt AT Hs &4

from konlpy.corpus import kolaw
c = kolaw.open('constitution.txt").read()
print( c[:15])

CHetol = o ¢
STE S ALS

from konlpy.tag import Kkma, Komoran, Hannanum, Okt
import time

start = time.time()

okt = Okt()

print( len( okt.nouns(c) ) )

print("time :", time.time() - start) # S - A& = &3 A2



3882
time : 22.240808725357056

start = time.time()
komoran = Komoran()
print( len( komoran.nouns(c) ) )

print("time :", time.time() - start) # S - Al& = &
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3358
time : 13.185760974884033

start = time.time()

kkma = Kkma()

print( len( kkma.nouns(c) ) )

print("time :", time.time() - start) # SN - A& =
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1571
time : 46.30729126930237

han = Hannanum()

start = time.time()

print( len( han.nouns(c) ) )
print("time :", time.time() - start) # S - Al&H =
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3178
time : 9.204519271850586

ola AZ H|m A (ChEH DI B HAE)

» A|ZH2 Hannanum()-2 2 2t0| 7HZ& WRtC}

s MSICE ML =R HAE A Okt7} 7HA Bie Chof ==
b2 Kkma() 7t 7t @B ZA2|;, THo| == 5 J4E AL}

Hannanum > Komoran > Okt > Kkma

251 - Ofgl MAE0 HojME HlW =45 SiE7].

from konlpy.corpus import kobill
d = kobill.open('1809890.txt").read()
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